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Part 1
Section A

Model Test One

Listening Comprenension (20 minutes)

Directions ;In this section, you will hear 10 short conversations.

‘Example;-

At the end of each conversation, a question will be

asked about what was said. The conversation and the

- question will be spoken only once. After each

question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and
D), and decide which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a
single line through the centre.
You will hear
You will read ;

A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

Sample Answer A) B) C) D)
From the conversation we know that the two are
talking about some work they have to finish in the

evening. This is most likely to have taken place at



the office. Therefore, A) “At the office” is the best
answer. You should choose answer A) on the
Answer Sheet and mark it with a single line

through the center.

1.A) 7:05 B) 7.55
C) 7:30 D) 7.25
2. A) That Mary won’t come.
B) That Mary will be late.
C) That Mary doesn”t want to come.
D) That Mary will come at 7:00.

3. A) English 625. B) History 471.
C) English 471. D) History 625.

4. A) Ten times. B) Eight times.
C) Four times. D) Two times.

5. A) At home. B) At Bill’s home.
C) At the office. D) In the hospital. -

6. A) He thought it was not as good as Professor Black’s.
B) He thought it was better than Professsor Black’s.
C) He didn’t like it,

D) He didn’t hear it.

7.A) He is in the army. B) He doesn’t like cars.

C) He is a car salesman. D) He can fix her car.
8. A) In a doctor’s office. B) At a drugstore.

C) In a hospital. D) At the man’s home.
9.A) $1.00. B) $6.00.

C) $7.00. ' D) $4.00.

10. A) He doesn’t want to have lunch with ‘the woman.



B) He will be very busy.
C) He’s having lunch with somebody else.

D) He never eats lunch.

Scction B

Directions ; In this scction. vou will hear three short passages. At
the end of each passage. vou will hecar some
questions. Both the passage and the questions will be
spoken only once. After you hear a question. you
must choose the best answer from the four choices
marked A) .B) ,C) and D) . Then mark the
corrssponding letter on the Answer Shect with a

single line through the center.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) A couple of years ago.
B) A couple of months ago.
C) A couple of weeks ago.
D) A couple of days ago.

12. A) 1 was going to work.

B) I was going.for a walk.
C) 1 was going for a picnic.
D). 1 was going to talk.

13. A) Because he walked across their field.
B) Because he was wearing a bright, red anorak.
C) Because he kicked them out of his way.

8
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D) Because he killed one of them.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) Shoplifting.
B) The prevention of shoplifting.
C) The causes of shoplifting.
D) The psychological trend of shoplifting.
15. A) People in their early thirties.
B) People in their twenties.
C) Teenagers in groups.
D) Boys and girls.
16. A) Put cash desks at all exits.
B) Hiring store detectives.
C) Using closed-circuit television.

D) Putting chains and alarms ‘on goods.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.

17. A) Interesting. B) Stupid and dangerous.
C) Exciting. D) Anxious.
18. A) The spectators often get hurt. )
‘B) Many people get killed in the matches.
C) The footballers often get hurt in the matches.
D) The referees are unfair.
19. A) They must be mad. B) They are dangerous.
9



C) They are gentle and polite. D) They are rude.
20. A) They are experts in one special field.

B) They can kick a ball around.

C) They are mad.

D) They are excited.

Part 11 Reading Comprehension (35 minutes)

Directions; There are 4 passages in this part. Each passage is
followed by some questions or unfinished statements.
For each of them there are four choices marked A) .
B) , C) and D) . You should decide on the best
choice and mark the corresponding letter on the
Answer Sheet with a single line through the center.

Having no language, infants cannot be told what they need
to learn. Yet by the age of three they have mastered the basic
structure of their native language and will be well on their way to
communicative competence. Acquiring their language. is a_most
impressive intellectual feat. Students of how child learn language
generally agree that the most remarkable aspect of this feat is the
rapid acquisition of grammar. ‘ Nevertheless. the ability of
children to conform to grammatical rules is only slightly more
wonderful than their ability to learn words. It has been reckoned
that the average high school graduate in the United States has a
reading vocabulary of 80,000 words, which includes idiomatic
experssions and proper names of people and places. This
vocabulary must have been learned over a period of 16 years.

10



From the figures, it can be calculated that the average child

learning process of great complexity goes on at a rapid rate in

children.

21.

22.

23.

24.

25.

What is the main subject of the passage?

A) Language acquisition in children.

B) Teaching language to children

C) How to memorize words.

D) Communicating with infants.

According to the passsage, approximately how long does it

take children to learn the basic structure of their native

language?
A) One year. B) Three years.
C) Four years. D) Thirteen years

The word “feat”in Line 5 is closest in meaning to which of

the following?

vA) Experiment. B) Idea.
C) Activity. - D) Accomplishment,
Which of the following can be inferred from the passage?

A) Education; in the United States is efficient.

B) A child can learn nearly 5,000 new words per year.

.C) All the language teachers must be well-trained.

D) Learning words at such a rapid rate, a child must be
smart.. \ ‘
The paragraphs following the passage most likely discuss
which of the following? ‘
A) The complex language learning process in children.
B) The language structure of a child’s native language..
11



